Y TORNEO

G-331

rlepeLIEHb KOMIMJ1eKTYHOLWNX

Ne OnucaHue Cneuudpukaums Kon-Bo, wTt
1 Jep>xatenb 6/10Ka BeCOB 1
2 | Hanpaenstowasa 610ka BecoB 1
3 | KoHconb 1
4 | Ctonka 2
5 | Onopa 2
6 | Pacnopka BepxHsas 1
7 | Pacnopka HUXHAA 1
8 | Mpnd ons BepxHeun TArm 1
9 | depxatenb 611MHOB 2
10 | Onopa ans rpuda yaamHeHHas nesas 1
11 | Onopa gnd rpuda yanmMHeHHas npasas 1
12 | Onopa gnd rpuda KopoTkas neBas 1
13 | Onopa ans rpuda KopoTkas npasast 1
14 | BONT BHYTPEHHUM LLUECTUrPAHHUKOM M10x77 8
15 | BOAT BHYTPEHHUM LLeCTUTPaAHHUKOM M10x70 2
16 | BONT BHYTPEHHUM LLUeCTUrPAHHUKOM M10x65 4
17 | BONT BHYTPEHHUM LIeCTUrPaHHNKOM M10x45 2
18 | BONT WeCTUrpaHHbIn M10x35 1
19 | BONT BHYTPEHHUM LLUECTUrPAHHUKOM M10x20 2
20 | bonTt c KkBagpaTHbIM NOATO/IOBHUKOM M10x75 4
21 | MankKa caMmOKOHTpSALLAACs M10 21
22 | Wanba mnsornytas D10 20
23 | Wanba D10 18
24 | Konna4vok M8 1
25 | 3arnywka D60 4
26 | Brynka 60x50 2
27 | 3arnywka 50x50 2
28 | I'punca 2
29 | 3arnywka D60 2
30 | 3arnywka D30 4
31 | 3arnywka D25 4
32 | OTH6ONHUK M8x20 2
33 | Mpy>XMHHbBIN pUKCaTop D30 2
34 | Brynka D16xD10.5 4
35 | WkvB D96 2
36 | Tpoc 2002 mm 1
37 | KapabuH D7 1
38 | OT6OMHUK D50x12 2
39 | Kntou wecTnurpaHHbin 6 MM 1
40 | Knwoy po>KKOBbIN 13-17-19 1




G-33]

MoaeTasnibHaa cxema TpEHaXKepa

28
8
{L 5 929
“ES
-
\"\
N
N
N
N
/0
& b >
Eﬁ‘ 31 |4 2 o2
ll ¥ A 2
P @38 e 2
SR 3
N
13 P 9 ) 3
N
] P
gﬁf S
PP
s
. ©
S
s
- ©38
S ¢ 30
! i




